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Paper / Subject Code: 71802 / Economics for Business Decision

(2 Hours) [Total Marks : 60]

Please check whether you have got the right question paper.
N.B.: 1) All questions are Compulsory.
2)  TFigures to the right indicate full marks.
3)  Draw ncat diagrams wherever necessary.

1. a) Explain Bandwagon and Snob effects on market demand. (08)
b) Describe the determinants of supply in brief. . ’ (07)
OR :
¢) Explain minimum floor and maximum cerlmg prrcmg control : e (08)
d) Explain the consumer’s cqurlrbnum wrth lhe hclp o[' mdrﬁ'erence curve and price 07)
line. o N '
- 2. a) Stateand explain the law of variable f)vroporiién. > ’ o (08)
' b) Discuss various types of intemal and exl'e.mal ecpnor’nies of scale. - v 07)
c) Diagrammatically cxplam ]easl cosl factor combmatron for a grven output (08)
d) From given mfonnalron calculate TC AFC AVC "AC.and MC if TFC is 50. 07)
Q (Units) [ 0 S I -F&F T L+ &SI, 6
TVC (%) |05 o[ 1020 3185 &8 ji.24_;;f;;; P36 3:[s0 80
3. a) Explain lhe short run equr]rbrrum of a ﬁnn under perfect compemron (08)
b) Discuss: the Dumpmg as'an mlernatronal prrce drscrrmmatron in the world (07)
market S o JEQN ooy R
c) Explam Lhe reasons behmd co1lusrve olrgopoly)wrth reference to cartel with (08)
surlable dlagram. RN A
d) Rend the- follong paragraph and answer lhe glven questions. 07)
~ Ajay and Amay are. arresled by crly pohce in bank robbery case. The police do not
V) have enou0h evrdencc to charge them of robbery. Both the suspects were
o 3 mlerrogated separately in drfferent tooms and not allowed in any kind of
commumcauon between them However the evidence is such that if both the
e suspccts do not confess each’ wrll get 3 years of maximum sentence in prison. The
v y ; oﬂ' cerq promrsed each suspecls that by confessing he or she will go free while the
S T ‘, ‘ other suspects who does not-confess will receive a full 20 years of sentence. If
: ' bolh suspecls confess each one will get a mild punishment of 5 years.
QueStlon’s. %

, ‘, )] Dlscus lhe dllemma of both suspects
S u) What js the dominant strategy available to both suspects?
ur) Prepare a ‘pay-off matrix for suspects Ajay and Amay.

)
J‘n,
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